Applied Probability Trust (22 June 2023)

# SUPPLEMENTARY MATERIAL: STRONG CONVERGENCE OF PEAKS OVER A THRESHOLD

SIMONE A. PADOAN,\* Bocconi University

STEFANO RIZZELLI,\*\* Catholic University

#### Abstract

This supplementary material document contains proofs of all technical lemmas presented in the main paper.

*Keywords:* Convergence Rate, Exceedances, Extreme Quantile, Generalised Pareto, Tail Index.

2020 Mathematics Subject Classification: Primary 60G70

Secondary 60F15, 60B10

.

#### 1. Recall on important notation

For y > 0, we denote  $T(y) = U(e^y)$  and, for  $t < x^*$ , we define the functions

$$p_t(y) = \begin{cases} \frac{T(y+T^{-1}(t))-t}{s(t)} - \frac{e^{\gamma y}-1}{\gamma}, & \gamma > 0\\ \frac{T(y+T^{-1}(t))-t}{s(t)} - y, & \gamma = 0\\ \frac{T(y+T^{-1}(t))-x^*-\gamma^{-1}s(t)}{s(t)} - \frac{e^{\gamma y}-1}{\gamma}, & \gamma < 0 \end{cases}$$

with s(t) = (1 - F(t))/f(t), and

$$q_t(y) = \begin{cases} \frac{1}{\gamma} \ln\left[1 + \gamma e^{-\gamma y} p_t(y)\right], & \gamma \neq 0\\ p_t(y), & \gamma = 0 \end{cases}$$

Received 26 December 2022; revision received 21 June 2023.

<sup>\*</sup> Postal address: Department of Decition Sciences, via Roentgen 1, 20136, Milan, Italy. Email: simone.padoan@unibocconi.it

<sup>\*\*</sup> Postal address: Department of Statistical Science, via Lanzone 18, 20123, Milan, Italy. Email: stefano.rizzelli@unicatt.it

Finally, for  $x \in \mathbb{R}, \gamma \in \mathbb{R}, \rho \leq 0$ , we set

$$I_{\gamma,\rho}(x) = \begin{cases} \int_0^x e^{\gamma s} \int_0^s e^{\rho z} \mathrm{d}z \mathrm{d}s, & \gamma \ge 0\\ -\int_x^\infty e^{\gamma s} \int_0^s e^{\rho z} \mathrm{d}z \mathrm{d}s, & \gamma < 0 \end{cases}$$

### 2. Proof of Lemma 4.1

By Lemma 5 in [3], for all  $\varepsilon > 0$  there exists  $x_0$  such that, for all  $t \in (x_0, x^*)$  and y > 0,

$$e^{-\gamma x}|p_t(y)| \le (1+\varepsilon)|A(e^{T^{-1}(t)})|I_{\gamma,\rho}(y)e^{-(\gamma-\varepsilon)y}.$$

Moreover, for a positive constant  $\vartheta_1$ 

$$I_{\gamma,\rho}(y)e^{-(\gamma-\varepsilon)y} \le \vartheta_1 e^{2\varepsilon y}.$$

Combining these two inequalities, we deduce that

$$e^{-\gamma y}|p_t(y)| \le (1+\varepsilon)|A(e^{T^{-1}(t)})|\vartheta_1 e^{2\varepsilon y}.$$
(1)

As a consequence, for any  $\alpha > 0$  there exists a constant  $\vartheta_2$  such that

$$\sup_{y \in (0, -\alpha \ln |A(e^{T^{-1}(t)})|)} e^{-\gamma y} |p_t(y)| \le \vartheta_2 |A(e^{T^{-1}(t)})|^{1-2\varepsilon\alpha}.$$
(2)

Therefore, choosing  $\varepsilon$  sufficiently small,  $e^{-\gamma y}|p_t(y)|$  converges to zero uniformly over the interval  $(0, -\alpha \ln |A(e^{T^{-1}(t)})|)$  as  $t \to x^*$ .

It now follows that, if  $y \in (0, -\alpha \ln |A(e^{T^{-1}(t)})|)$  and  $t > x_1$  for a sufficiently large value  $x_1 < x^*$ , when  $\gamma \neq 0$  a first-order Taylor expansion of the logarithm at 1 yields

$$|q_t(y)| = \left| \frac{1}{\gamma} \frac{\gamma e^{-\gamma y} p_t(y)}{1 + \vartheta(t, y) \gamma e^{-\gamma y} p_t(y)} \right| \le \vartheta_4 |A(e^{T^{-1}(t)})| e^{2\varepsilon y},$$

where  $\vartheta(t,y) \in (0,1)$  and  $\vartheta_4$  is a positive constant, while when  $\gamma = 0$  it holds that

$$\begin{aligned} q_t(y) &|= e^{\gamma y} e^{-\gamma y} |p_t(y)| \\ &\leq \vartheta_5 |A(e^{T^{-1}(t)})| e^{2\varepsilon y} \end{aligned}$$

where  $\vartheta_5$  is a positive constant. The result in the statement is a direct consequence of the last two inequalities.

Supplementary Material: Strong convergence of POT

# 3. Proof of Lemma 4.2

If  $\gamma \neq 0$ 

$$1 + q_t'(y) = \frac{\exp\left\{\int_{e^{T^{-1}(t)}}^{e^{y+T^{-1}(t)}} \frac{A(u)}{u} \mathrm{d}u\right\}}{1 + \gamma e^{-\gamma y} p_t(y)},$$

while if  $\gamma = 0$ 

$$1 + q'_t(y) = \exp\left\{\int_{e^{T^{-1}(t)}}^{e^{y+T^{-1}(t)}} \frac{A(u)}{u} \mathrm{d}u\right\}.$$

Therefore, if  $y \in (0, -\alpha \ln |A(e^{T^{-1}(t)})|)$  and  $t > x_2$  for a sufficiently large value  $x_2 < x^*$ , using the bounds in formulas (1)–(2) and choosing a suitably small  $\varepsilon$  we deduce

$$1 + q'_t(y) \le \frac{\exp\left\{\int_{e^{T^{-1}(t)}}^{e^{y+T^{-1}(t)}} \frac{A(u)}{u} du\right\}}{1 - \mathbb{1}(\gamma \neq 0) |\gamma| e^{-\gamma y} |p_t(y)|} \\ \le \exp\left\{y|A(e^{T^{-1}(t)})|\right\} \frac{1}{1 - \omega_1 |A(e^{T^{-1}(t)})| e^{2\varepsilon y}} \\ \le \exp\left\{\omega_2 |A(e^{T^{-1}(t)})| e^{2\varepsilon y}\right\},$$

for positive constants  $\omega_i$ , i = 1, 2. Similarly,

$$\begin{split} 1+q_t'(y) &\geq \frac{\exp\left\{\int_{e^{T^{-1}(t)}}^{e^{y+T^{-1}(t)}} \frac{A(u)}{u} \mathrm{d}u\right\}}{1+\mathbbm{1}(\gamma \neq 0) |\gamma| e^{-\gamma y} |p_t(y)|} \\ &\geq \exp\left\{-y|A(e^{T^{-1}(t)})|\right\} \frac{1}{1+\omega_3 |A(e^{T^{-1}(t)})| e^{2\varepsilon y}} \\ &\geq \exp\left\{-\omega_4 |A(e^{T^{-1}(t)})| e^{2\varepsilon y}\right\}, \end{split}$$

for positive constants  $\omega_i$ , i = 3, 4. The result now follows.

# 4. Proof of Lemma 4.3

Let  $v_0 > 0$  satisfy  $U(v_0) \neq 0$  and  $U'(v_0) \neq 0$ . Then, for  $v > v_0$  it holds that

$$\eta(U(v)) = \frac{1 + \gamma U(v)}{vU'(v)} - 1$$
  
=  $\frac{1 + \gamma U(v_0)}{vU'(v)} + \gamma \int_{v_0}^{v} \frac{U'(r)}{vU'(v)} dr - 1.$ 

Moreover, by definition of A, we have the identity

$$\gamma \int_{v_0}^{v} \frac{U'(r)}{vU'(v)} dr - 1 = \gamma \int_{v_0/v}^{1} \frac{U'(zv)}{U'(v)} dz - 1$$
  
=  $\int_{v_0/v}^{1} \gamma z^{\gamma - 1} \left[ \exp\left\{ -\int_{z}^{1} \frac{A(vu)}{u} du \right\} - 1 \right] dz - \left(\frac{v_0}{v}\right)^{\gamma}.$ 

Therefore, denoting by  $\mathcal{R}_2(v)$  the first term on the right-hand side and setting

$$\mathcal{R}_1(v) = \frac{1 + \gamma U(v_0)}{v U'(v)} - \left(\frac{v_0}{v}\right)^{\gamma},$$

we have  $\eta(U(v)) = \mathcal{R}_1(v) + \mathcal{R}_2(v)$ . On one hand, the function  $\mathcal{R}_1(v)$  is regularly varying of order  $-\gamma$ . On the other hand, for any  $\beta \in (0, 1)$ , the function  $\mathcal{R}_2(v)$  can be decomposed as follows

$$\mathcal{R}_{2}(v) = \int_{v_{0}/v}^{v^{-(1-\beta)}} + \int_{v^{-(1-\beta)}}^{1} \gamma z^{\gamma-1} \left[ \exp\left\{ -\int_{z}^{1} \frac{A(vu)}{u} du \right\} - 1 \right] dz$$
  
=:  $\mathcal{R}_{2,1}(v) + \mathcal{R}_{2,2}(v).$ 

Assuming that A is ultimately positive and selecting  $v_0$  suitably large, we have

$$\begin{aligned} |\mathcal{R}_{2,1}(v)| &\leq \int_{v_0/v}^{v^{-(1-\beta)}} \gamma z^{\gamma-1} \left[ 1 - \exp\left\{ -\frac{A(vz)}{z} \right\} \right] \mathrm{d}z \\ &= O(v^{-\gamma(1-\beta)}) \end{aligned}$$

and

$$\begin{aligned} |\mathcal{R}_{2,2}(v)| &\leq \int_{v^{-(1-\beta)}}^{1} \gamma z^{\gamma-1} \left[ 1 - z^{A(v^{\beta})} \right] \mathrm{d}z \\ &= O(v^{-\gamma(1-\beta)} \lor A(v^{\beta})). \end{aligned}$$

Consequently, there exists a regularly varying function  $\mathcal{R}$  of index  $\rho = \gamma(\beta - 1) \vee \rho\beta$ complying with the property in the statement as  $v \to \infty$ .

Similarly, if A is ultimately negative, choosing  $\beta$  such that  $\beta < 2\gamma$  and  $v_0$  suitably large, we have

$$|\mathcal{R}_{2,1}(v)| \le \int_{v_0/v}^{v^{-(1-\beta)}} \gamma z^{\gamma-1} \left[ u^{A(v_0)} - 1 \right] \mathrm{d}z$$
$$= O(v^{-(\gamma-\beta/2)(1-\beta)})$$

and

$$\begin{aligned} |\mathcal{R}_{2,2}(v)| &\leq \int_{v^{-(1-\beta)}}^{1} \gamma z^{\gamma-1} \left[ z^{A(v^{\beta})} - 1 \right] \mathrm{d}z \\ &= O(v^{-(\gamma-\beta/2)(1-\beta)} \vee |A(v^{\beta})|) \end{aligned}$$

as  $v \to \infty$ . Hence, there exists a regularly varying function  $\mathcal{R}$  of index  $\rho = (\beta - 1)(\gamma - \beta/2) \lor \rho\beta$  complying with the property in the statement. The proof is now complete.

# 5. Proof of Lemma 4.4

Let  $\mathcal{R}^*(t) := \mathcal{R}(1/(1 - F(t)))$ , where  $\mathcal{R}$  is as in Lemma 4.3. Then  $\mathcal{R}^*(t)$  is regularly varying of index  $\rho/\gamma$  (see, e.g., [4], Proposition 0.8(iv)). In turn, by Karamata's theorem (e.g., [4], Proposition 0.6(a)) we have that for a large  $t^*$ 

$$\int_{t^*}^\infty \frac{|\eta(t)|}{1+\gamma t} \mathrm{d} t < \infty$$

and thus, by Proposition 2.1.4 in [2], we conclude that

$$\tau := \lim_{t \to \infty} \frac{1 - F(t)}{1 - H_{\gamma}(t)} \in (0, \infty).$$

$$(3)$$

As a consequence, for any  $\delta \in (0, -\varrho)$ , as  $t \to \infty$ 

$$\mathcal{R}^*(t) \sim \mathcal{R}\left(\frac{1}{\tau(1 - H_{\gamma}(t))}\right)$$
$$= O(\{1 - H_{\gamma}(t)\}^{\delta}).$$

The conclusion now follows by Proposition 2.1.5 in [2].

# 6. Proof of Lemma 4.5

By definition,

$$\begin{split} \tilde{\eta} \left( y \right) &= \frac{f(x^* - 1/y)}{[1 - F(x^* - 1/y)]y^2} - \gamma \left[ \frac{f(x^* - 1/y)}{y(1 - F(x^* - 1/y))} + \frac{1}{\gamma} \right] \\ &=: \tilde{\eta}_1 \left( y \right) + \tilde{\eta}_2 \left( y \right). \end{split}$$

On one hand, we have that as  $y \to \infty$ 

$$\tilde{\eta}_1(y) = O(1/y)$$

On the other hand, for v > 1 we have the identity

$$\tilde{\eta}_2\left(\frac{1}{x^* - U(v)}\right) = \int_1^\infty \gamma z^{\gamma - 1} \left[1 - \exp\left\{\int_1^z \frac{A(uv)}{u} \mathrm{d}u\right\}\right] \mathrm{d}z.$$

Hence, if A is ultimately positive,

$$\tilde{\eta}_2\left(\frac{1}{x^* - U(v)}\right) \le -\gamma \int_1^\infty z^{\gamma - 1} (z^{A(v)} - 1) \mathrm{d}z$$
$$= O(A(v))$$

while, if A is ultimately negative,

$$\left| \tilde{\eta}_2 \left( \frac{1}{x^* - U(v)} \right) \right| \le \gamma A(v) \int_1^\infty z^{\gamma - 1} \ln z \mathrm{d}z$$
$$= O(|A(v)|).$$

As a result of the two above inequalities, as  $v \to \infty$ 

$$\tilde{\eta}_2(t) = O\left( \left| A\left( \frac{1}{1 - F(x^* - 1/y)} \right) \right| \right),$$

Therefore, by regular variation of  $1/(1 - F(x^* - 1/y))$  with index  $-1/\gamma$ ,  $\tilde{\eta}_2(y)$  is eventually dominated by a regularly varing function of index  $-\rho/\gamma$ . The final result now follows.

# 7. Proof of Lemma 4.6

The function  $\tilde{f}(y) := f(x^* - 1/y)y^{-2}$  is the density of the distribution function  $\tilde{F}(y) := F(x^* - 1/y)$ , which is in the domain of attraction of  $G_{\tilde{\gamma}}$ , with  $\tilde{\gamma} = -\gamma$ . Moreover,

$$\tilde{\eta}(y) = \frac{(1+\tilde{\gamma}y)\tilde{f}(y)}{1-\tilde{F}(y)} - 1.$$

By Lemma 4.5 and regular variation of  $1 - H_{\tilde{\gamma}}$  with index  $-1/\tilde{\gamma}$ , we have

$$\tilde{\eta}(y) = O(\{1 - H_{\tilde{\gamma}}(y)\}^{\delta})$$

for any  $\tilde{\delta} > 0$  such that  $-\tilde{\delta}/\tilde{\gamma} > \tilde{\varrho}$ . Therefore, by Proposition 2.1.5 in [2], as  $y \to \infty$  it holds that

$$\tilde{f}(y) = h_{\tilde{\gamma}}(y)[1 + O(\{1 - H_{\tilde{\gamma}}(y)\}^{\delta})],$$

which is the result.

### 8. Proof of Lemma 4.7

We analyse the cases where  $\gamma > 0$  and  $\gamma < 0$  separately.

Case 1:  $\gamma > 0$ . In this case,  $\tilde{l}_t = l_t$ . By Lemma 4.4, there are positive constants  $\kappa$ ,  $\delta$  and  $\epsilon$  such that, for all large t and all x > 0

$$\frac{l_t(x)}{h_{\gamma}(x)} \le \frac{h_{\gamma}(s(t)x+t)}{h_{\gamma}(x)} \frac{s(t)}{1-F(t)} \left[ 1 + \kappa \left\{ 1 - H_{\gamma}(s(t)x+t) \right\}^{\delta} \right] \\ \le \left[ \frac{1+\gamma x}{(1+\gamma t)/s(t)+\gamma x} \right]^{1+1/\gamma} \frac{1+\epsilon}{(s(t))^{1/\gamma}(1-F(t))}.$$

### Supplementary Material: Strong convergence of POT

Moreover, by Lemma 4.3 it holds that as  $t \to \infty$ 

$$\frac{1+\gamma t}{s(t)} = 1 + \eta(t) = 1 + o(1)$$

and, in turn,  $(s(t))^{1/\gamma} \sim (1 + \gamma t)^{1/\gamma}$ . These two facts, combined with the tail equivalence relation in formula (3), imply that for all sufficiently large t and all x > 0

$$\frac{l_t(x)}{h_{\gamma}(x)} \leq \left[\frac{1+\gamma x}{1-\epsilon+\gamma x}\right]^{1+1/\gamma} \frac{1+\epsilon}{(1-\epsilon)\tau} \\ \leq \left[\frac{1}{1-\epsilon}\right]^{1+1/\gamma} \frac{1+\epsilon}{(1-\epsilon)\tau}.$$

The result now follows.

Case 2:  $\gamma < 0$ . In this case, for any  $x \in (0, -1/\gamma)$ 

$$\tilde{l}_t(x) = f\left(x^* - \frac{1}{y}\right) \frac{1}{y^2} \frac{y^2 \tilde{s}(t)}{1 - F(t)}$$

where

$$y\equiv y(x,t):=\frac{1}{s(t)}\left[-\frac{1}{\gamma}-x\right]^{-1}$$

Note that y is bounded from below by  $-\gamma/s(t)$ , which converges to  $\infty$  as  $t \to x^*$ . Thus, by Lemma 4.6 there are positive constants  $\tilde{\delta}$ ,  $\epsilon$  and  $\tilde{\kappa}$  such that

$$\tilde{l}_{t}(x) \leq (1 - \gamma y)^{1/\gamma - 1} [1 + \tilde{\kappa} \{1 - H_{-\gamma}(y)\}^{\tilde{\delta}}] \frac{y^{2} \tilde{s}(t)}{1 - F(t)}$$
$$\leq h_{\gamma}(x) \left[ s(t) \left( -\frac{1}{\gamma} - x \right) - \gamma \right]^{\frac{1}{\gamma} - 1} \frac{(1 + \epsilon)(-\gamma^{-1} s(t))^{-1/\gamma}}{1 - F(t)}.$$

By hypothesis, it holds that  $x < -1/\gamma$ , thus

$$\left[s(t)\left(-\frac{1}{\gamma}-x\right)-\gamma\right]^{\frac{1}{\gamma}-1} \le (-\gamma)^{\frac{1}{\gamma}-1}.$$

Finally, for all large t,

$$\frac{-\gamma^{-1}s(t)}{x^* - t} \le (1 + \epsilon)$$

Combining all the above inequalities we can now conclude that, for all large t and for any  $x \in (0, (x^* - t)/\tilde{s}(t))$ ,

$$\frac{\tilde{l}_t(x)}{h_{\gamma}(x)} \le (1+\epsilon)^{1-1/\gamma} (-\gamma)^{\frac{1}{\gamma}} \frac{(x^*-t)^{-\frac{1}{\gamma}}}{1-F(t)}.$$

Now, setting t = U(v), we have that  $v \to \infty$  if and only if  $t \to x^*$  and, by Theorem 2.3.6 in [1], there is a constant  $\varpi > 0$  such that for all large t

$$\frac{(x^* - t)^{-\frac{1}{\gamma}}}{1 - F(t)} \le v[(1 + \epsilon)\varpi v^{\gamma}]^{-\frac{1}{\gamma}} = [(1 + \epsilon)\varpi]^{-\frac{1}{\gamma}}$$

The result now follows.

### Acknowledgements

Simone Padoan is supported by the Bocconi Institute for Data Science and Analytics (BIDSA), Italy.

#### References

- DE HAAN, L. AND FERREIRA, A. (2006). Extreme Value Theory: an introduction. Springer, New York.
- [2] FALK, M., HÜSLER, J. AND REISS, R.-D. (2010). Laws of small numbers: extremes and rare events. Birkhäuser, Basel.
- [3] RAOULT J.-P. AND WORMS, R. (2003). Rate of convergence for the generalized Pareto approximation of the excesses. Adv. in Appl. Probab. 35, 1007–1027.
- [4] RESNICK, S. I. (2007). Extreme values, regular variation, and point processes. Springer, New York.